1) tan*x = tan’xsec’x — tan’x

= 4141‘%(31;‘5_:')

!
fa{,*“" L

+IaaK B5ect &

Name: ]4 [§V)

(

5.2 EXTRA

2) (tan’x + 1)(cos*x — 1) = -tan’x
L rtc’;x >(— s_»ij)
\

-

fon' ¢ | i’ :—; / B et
Z fen X ( fuatx X~ 50 ~ -
. ¢ fua ) —_— ustX |
T X 2 4o -
ny -
- WK
# T also sow. ..., d’CF(;;L;

1
) X
Site tftt”

'}D"‘z i+ ‘faqlx> —ﬁqlk

th

[\l

g
™M'X < fon X

1) tan*x = tan’xsec’x — tan’x

Sinos + ovves a(ﬂfdbu‘»—

= sﬁx A siatx
Gs5¥X tastX ootk
T
T SX s Gestx)
Sitlet

cosPx costy (e x)

'y z
2 sialk = sntkecostx

s x

= s;ntk‘ (f*CoSLX>

&) S‘f)(
Z
- siaix (‘;Mi'x)

o
cus X

= sin'x folx :/qux

a:slf}(

‘f}_‘f_i X4 doq'x ~ fuatx

e
n "‘W\’LX = "{I(AL/\’

Name:

5.2 EXTRA

2) (tan’x + 1)(cos?*x — 1) = -tan’x
T alse

B ST
(TLC-L«) ((,of"x—— () z

(R

SR oSV — 5o Er

| —selx =
T

— -*-541'5(‘7/ -‘{’041)(



Wﬁf&l\/b HHa r:}"\f' O T e

1
3) ———— =secx—cosx

- 05X (org

cscxcotx
@ = L - 5K Gors)
CosX ( Ccogr)

1)

! - cos®x
—

og R

sinFx

i

Lus X

iNX ¢ TIAX

Cus¥ |
~ fnx csiaX
| |
e Ao il
Cotk C5ex
s % |
CS&'C()&'K lek 'C(Jd r'd
o
U._)Qrv"\ﬂb ‘H—L \l/”
1
3) =SECX—COSX
scxcotx
Six e S_*_ﬂi( =
oS
SMtx -
Cos X
_h\;\*\
&}n ("ms‘k> z
(osX
' ws X _

SeCx = Lgx'coﬂ? _
(oY X

/

SLEx . ~ sk = ULy =Cogs

4) sec

‘_\z“)'q

4) sec

sl

)

_secH-1 (l +w39>

1-cos@ (1 +co
Q)

se osf 56

50)

-1 —UJSQ

{—.ts 519

3(’_(,9 Tl -1 —cost

| —cos O

§0C@ -coyE ('MJ::\O'M- -@rﬂwﬂ,“’" :

[~cos @

B 7S vy (uev)
(50 1 (&mﬂ

[ —ces™@

/-cost®

cosg *
— s

[-cos"&

/- &
cos

\

—_—

sl
e
sd'(? = stc @

0= secl -1
1-cosé@

= SQ(.e =
—_——
(mff][ = __L
i ¥

(7!

sk

J-c OG-

T alse

- sect - |

el -1

ff.(_é

:M\QLA s
{ =i

-f 51(.,6



